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SIGABRT | process aborted SIGALRM signal raised by “alarm”
SIGBUS bus error SIGCHLD child process terminated
SIGCONT | continue if stopped SIGFPE floating point exception
SIGHUP hangup SIGILL illegal instruction
SIGINT interrupt SIGKILL kill
SIGPIPE | write to pipe SIGQUIT quit and dump core
SIGSEGV | segmentation violation SIGSTOP stop temporarily
SIGTERM | termination SIGTSTP terminal stop signal
SIGTTIN/ backgroqnd process SIGUSR1/ user defined 1/2
SIGTTOU | attempting to read/write SIGUSR2
SIGPOLL | pollable event SIGPROF profiling timer expired
SIGSYS bad syscall SIGTRAP trace/breakpoint trap
SIGURG urgent data available SIGVTALRM | virtual timer expired
SIGXCPU | CPU time limit exceeded SIGXFSZ file size limit exceeded
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ZEJAMM Mg A2 4% (sidfillset, sigaddset, ...)
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#include <signal.h>

int sigemptyset (sigset_t *set);

int sigfillset (sigset_t *set);

int sigaddset (sigset_t *set, int signum);

int sigdelset (sigset_t *set, int signum);

int sigismember (const sigset_t *set, int signum);
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sigset_t set;
int result;

sigemptyset(&set);

sidfillset(&set);

sigdelset(&set, SIGALRM);
sigaddset(&set, SIGALRM);

result = sigismember(set, SIGALRM);
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#include <signal.h>

int sigaction (int signum, const struct sigaction *act, struct sigaction *oldact);
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sigaction
Q struct sigaction
= AIDY HER signuml 2 XIFS EF AldYo| EogS m
ssiof & HFE Y= A
struct sigaction {
void (*sa_handler)(int);
void (*sa_sigaction)(int, siginfo_t *, void *);
sigset t sa_mask;
int sa_flags;
}
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sigaction
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SA_SIGINFO sa_handler O &1 °ll sa_sigaction2 4 &
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#include
#include
num=0;
uy .
main ( ) o 2H ;LI 5H = A
{ ZE1Hd d4¥ =F "C&
sigaction act: Aldd S BUiC
int_handl e( ) . A2 juyoon@ce:~/system/programming/si
act.sa_handler = int_handle: [!uyoon signal/68]§ ex04
gsigfillset(&act.sa_mask):; %-2 giggpy
sigaction( ., &act, ) SIGIHT!2py
(1) { int_handle called 1 times
printf( ): I:m sleepy. ..
sleep(1): : ['m sleepy. ..
(num ;: ) { SIGINT:2
act sa handler = int_handle called 2 times
si éctfon( &act ’ ) ['m sleepy...
) 8 , ; : ['m sleepy...
) } [ juyoon:signal/69]1$
int_handle( gignum)
{
printf( , signum):
printf( , ++num) ;
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#include <signal.h>

int sigprocmask (int how, const sigset_t *set, sigset_t *oldset);
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#include
#include

main ( )

sigset_t set:
i count =

sigemptyset(&set);
sigaddset(&set,
51gprocmask(SIG BLOCK, &set

(count) {

printf(
sleep(1);

printf(

sigprocmask
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&2 juyoon@ce:~/system/programming/sig

sigprocmask(SIG_UNBLOCK, &set,
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[juyoon:signal /73]$ ex0b
Don't disturb me (5)
Don't disturb me (4)
Don't disturb me (3)
Don't disturb me (2)
Don’t disturb me (1)

[ juvoon:signal /74]%
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kill/raise
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#include <signal.h>

#include <signal.h>
int raise (int sig);

#include <sys/types.h>

int kill (pid_t pid, int sig);
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Kill/raise

a killel A pid gtoll @E o o]
pid 9| o

pid>0 |§% Z2AMAc Al01Y dY

pid=0 |AMa Z2 OAF0 U B ZE2MH20 A0 Y
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raise(sig); < Kkill (getpid(), sig);
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#include <unistd.h>

unsigned int alarm (unsigned int seconds);

seconds | & GreIQ Azt
grgtg | MAE Az F We Azhg urasict g ol 4ol groldt,

= alarm 48 2 5
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= X[ 7HX] At sleep = alarm AHESHA H
HE}ALCH,
o sleept alarm2 &7 AHE5HX| Q= Zo| FCH,
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#include
#include

timeover ( signum)
printf(
exit(0);
main ( )

buf [ 1:

*alpha =

timelimit:
sigaction act;

act.sa handler=timeover:

sigaction( , &act,
printf(

scanf ( ., &timelimit);
alarm(timelimit);
printf(

scanf( , buf);

(!stremp(buf, alpha))
printf(
printf(

alarm

&2 juyoon@ce: ~/system/programming/signal

[juyoon:signal f/77]1% ex07
input time limit (sec):
b

START

> abcdefghi jklmnopgrs

time over!

[juyoon:signal /78]% abcdefghijklmnopqrstu

Al
=2

-

aAlgol M=z 3 W7HX| 7

#include <unistd.h>

int pause(void);
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&2 juyoon@ce:~/system/programming/signal

#include
#include

handler/( signam) ;
main ( )
gigaction act:

sigfillset(&act.sa_mask);

pause
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sigaction act;
sigset_t set:

sigemptyset(&(act.sa_mask)):
sigaddset(&(act.sa_mask),
sigaddset(&act.sa mask, )
sigaddset(&act.sa_mask,
act.sa_handler = handler:
sigaction( . &act,
sigaction( . &act,
sigaction( . &act,

printf(
raisel( )
sigemptyset(&set):
sigaddset(&set,
Slgprocmask(SlG SETHMASKE, &Set

(flag) {
printf(
sleep(1);

act.sa_handler = handler: _
sigaction ( , &act, ) Alel A4}
printf( : , pause()); Z272 Aal-g E%— R
} AlddE BUiCEH,
handler ( signum) £ juyoon@ce:~/system/programming/signal
{ ) [ juyoon:signal /81]% ex09
printf( ):
} SIGINT caught!
pause return -1
[juyoon:signal /821%
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#include
#include
handler( signum) ; = =
flag = 5; F’ﬂagujg¢ij
main [ )
{

NTEE T
s 4%

| SIGUSR1 M8t |

[ flag7t 0°! & 7]
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£ juyoon@ce:~/system/programming/signal

printf(
kill(getpid(), )

printf(
printf(
printf(
alarm(2);
pausel() ;

handler ( signum)

flag—:
(signum) {

printf(
printf(
printf(

printf(

)

, pause()%f

, signum);

, Signum);

, Signum);

, signum);
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